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Q5) Reduce the network to a single current source, and determine the voltage V3 ?
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Q1)A) Find the total resistance for the series circuit of Figure below, calculate the source

current ( | )and determine the voltages V1, V2, and V3? (15M.)
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Q1)8: Find the total resistance for the network ? (10M.)
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Q2) Using super mesh analysis, determine the current through R1?

R, Ry
AN M
4 () 20
R,§6$2
l 4 A Ey o 12V

Q3) Using superposition, find the current through the R2 ?
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Subject:Technical English Language Qurna technical institute
Date: 17/9/2017 o Dept. techniques Electrical
Time:3 hours L Class:first year

Final Examination-Second role 2016-2017

Q1: Complete the following sentences with suitable words:  (do 4 only) (20 marks)
1. Resistance is measured in ;
The force that generates a flow of electricity is called the

2.

3. Both the electromotive force and the potential difference are measured in units called____
4. Three excellent conductors of electricity are z and

5. A is one thousand times smaller than millivolt.

Q2:Decide whether the following sentences are true or false and correct the false one:(Do 4 only) (20 marks)
1. More people are relying on electronic mail because it save time and money.

Resistance is not responsible for the heating and lighting.

A thin wire has a higher resistance than a thick wire.

Electricity can be taught without basic understanding of atom .

The force can be measured, and uses a unit called a volt.

v wN

Q3: For the following words collocate each word from the group A to its collocation in the group B: (20 marks)
A : Research, Gas, steering , solar ,electric ,University of
B : station, energy , committee , Center, energy , Baghdad

Q4: Translate the following text into Arabic: (20 marks)

1. Society as we know it cannot function without supply of energy. It turns the wheels of industry and
agriculture. There is an agreement that electrical energy, because of its ease of transformation to and
from other energy forms and its ease of transmission, distribution, and utilization.

2. An electric current is defined as the flow of free electrons through conductor .

Q5:Define the following terms: (20 marks)

Volts, Electrician, Electrons, e-mail, milliampere.
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Q1//: (15degree)
A-In the three phase half wave rectifier find 1)Py. , 2)P.., 3)FF, 4)RF,  5)CF

B- explain in steps why 3-phase full wave rectifier currents, is preferred of high power

Q2//: (15 degree)
A. find resistance of Ge Diode at T=290K, when forward based at ID=20uA and
ID=10uA
B. list the characteristics of operational amplifier( OP-AMP)

Q3//: A. Sketch the differential circuit of OP-AMP , then Drive the output voltage respect
to the input voltage. (12 degree)

B. for the differential circuit: if Rf= 40K() and the value of the capacitor is 0.002pf,
the input signal is given in Figl. (13degree) |
Sketch the circuit then Find the output voltage wave form.

\'4

A

/ > Time (msec)

Figure 1




Q4//: Find Vo

i/I{Z/
y

1K 2K
3V 6V
V /4

Qs//: (15 degree)

The circuit shown in figure below ; show that the output Eo is given as :-

Q6//: RC network for phase shift circuit is used to control the power in SCR circuit; if the
capacitor C= 0.3puF, Frequency 50 Hz and R= 15KQ . do ( 15degree)

A-Sketch RC network circuit
B-Find fringing angle (a) in degree
C- Plot the phasor diagram

Q7//: In single phase full-wave phase controlled for inductive load. (15 degree)

A- Sketch the operation circuit then
B- Drive the output voltage
C- Sketch the output waveform if the input was 5sinwt and firing angle =30°

Good luck
(2
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Answer all questions

Q1: A- Convert the following numbers to decimal system
1- (441.24)5 = (x) 10 2-(CA9.32)i6=(x)10  3-(10011.01); = (x) 10 (15 Marks)

Q1: B- Convert the POS expression to SOP
Y=A"BC+ AB"C+ A"BC™ (10 Marks)

Q2: A-Convert the following numbers (15 Marks)
1- (172.17)g = (oees) 16 2- (2D F.2CC) 16=(....)s 3- (1110.001); = (...) 16

Q2: B- Draw the logic circuit for the Equation. y = (AB~C+BC +ZA) (10 Marks)

Q3: A- Convert the following numbers (1S Marks)
1- (623.25)]0 = (....)3 2- (497.293) 0= (..--) 16 3- (332.104) 10~ (....) 2

Q3: B- Convert the POS Boolean expression to SOP
Y= (A +B+C) (A+B +C) (A+B +C) (A +B+C). (10 Marks)

Q4: A- Write the Boolean expression and draw the logic circuit for the truth table

below.
AN gAY (12 Marks)

A B C Y
0 0 0 1
0 0 1 0
0 1 0 0
0 1 1 1
1 0 0 0
1 0 1 0
1 1 0 1
1 1 1 0

Q4: B-Draw the truth table and the logic circuit for the Boolean expression
Q= (x+y) (x +z) (x +y) (13 Marks)
|
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